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Kohlberg Theory of development is
concerned with

(1) Language Development

{2} Social Development

(3) Moral Development

(4) Physical Development

The Concept of
Learning was given by
(1) Hull (2) Thomdike
(3) Skinner (4) Watson

Programmed

A relatively permanent change in
behavioural potentiality that occurs
as a result of reinforced practice is
(1) Learmng (2y Motivation
(3) Auirode {4) Aptitude

Cognition is a part of which
Intelligence Theory ?

{1) Sampling Theory

(2) Group Factor Theory

{3) Guilford's Theory

(4) Fluid & Crystallized Theory
Eight years old Sudhir has mental

age of ten. What is his LOQ ?
(1) 80 (2) 108
(3) L1D (4) 125

Which theory of emotion deals with
the idea “Emotional experience
depends uﬂtﬁm behavioar” 7
(1) Iames-l.amThcmj'

(2) Hypuhzjamltl'hﬁm'y

(3) Activation Theory

(4) Motivational Theory

Emotional tension, resulting from a
blocking of a desire or need is called

(1) Conflict (2} Frustration

(3) Anxiety (4) Teasion
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Which of the following is not the lawP
of learning 7

(1) Law of readiness

(2) Law of stress

(3) Law of effect

(4) Law of exercise

Piaget is mainly known for studying
(1) Language development

(2) Sexual development

{3) Cognitive development

(4) Social development

When training given to one part of
human body gets transferred to the
other part, then it is called

(1) Vertical Transfer
(2) Horizontal Transfer
(3} Bilateral Transfer
(4) None of the above

The score in Wmﬂ data that
appears most frequently is called
(1) Mode

Albert Bandura 15 associated with
which of the following ?

(1) Social Leamning Theory

2) Behavioural Theory

{3) Cognitive Theory of

{4) gwlio- i

ycho-Social Theory of
Development

Who gave the concept of mental age ?
(1) Binet-Simon (2) Stem

(3) Terman (4) Cyril Burt
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Bhana Batiery is used to measure
which of the following ?

{2) Interest
(4) Aptitude

(1) Personality
(3) Intelligence

Hall's theory explains which of the
following 7

(1) Nature of Intelligence

(2) Role of Motivation in Learning
{3) Development of Values

(4) Psychology of Adolescents

Psycho-sexual  development  of
human  personality has been
emphasized by
(1) Comenius
(3) Hollingworth

(2) Hall
(4) Freud

First laboratory of psychology was
established by

(1) W. Wundt
{3} Paviov

(2) Sigmund Frend
(4) Watson

Who s the founder of Gestah

Psychology 7

(1) Franz Brentano

(2) Max Wertheimer

(3) Edgar Rubin

(4) Kurt Lewin

Consolidation Theory is associated
with which of the following 7

(17 Learning (2) Motivation
(3) Memory (4) Creativity

Field Theory is the contribution of
(1) Behaviourists

(2) Structuralists

(3) Psychoanalysts

(4) Gestaltists
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P (8)
: PART-III
LANGUAGE-2 ENGLISH

Candidates should answer the questions from the following part only if they have opted
for ENGLISH as LANGUAGE - 2.

61. What does the Ganges symbolize, 67. What reason does Antonio give for
according to Jawaharlal Nehru ? being sad in the opening scene of the
(1) Itis a symbol of India’s prosperity. play ?
(2)/ It is a symbol of India’s age- (1Y He stands to lose a fortune in his
Y long culture and civilization. present business ventures.
(3) It is a symbol of changing (2) He owes a fantastic sum of
seasons of India. money to Shylock.
(4) It is a symbol of India’s struggle (3) He gives no reason.
for freedom. (4) The woman he loves does not
62. What damaged the crop in Lencho’s return his feelings.
field ?
(Vf Wild animals (2) Flood 68. Whom does Bassanio agree to bring

63.

(3) Drought (4) Hailstones
What does Lorenzo order when he learns
that Portia is on her way to Belmont ?
(1) A banquet to welcome the lady

\}3’) Antonio

with him to Belmont ?
(1) Old Gobbo (2) Gratiano

(4) Jessica

of it house 69. Point out the error in the following
(2) Music incorrect sentence :
@/ A ring to match the one she once I can learn poems more easy than
gave to Bassanio speeches.
(4) Flowers (1) Ican (2) learn poems
64. In court how does Antonio react to \(3) more easy (4) than speeches
Shylock’s insistence on collecting his 70. Point out the sentence in the active
pound of flesh 7 VOICE.
(1) He weeps openly. (1) Why don’t you have your eyes
\(;)’ He vows that he will meet tested ?
Shylock’s hatred with patience. (2) This notice has been altered.
(3) He curses Shylock’s vengeance. \9)/ Boys could not have done all
(4) He makes an impassioned plea to this damage.
the court to intervene on his behalf. (4) Steps had been cut in the ice by
65. According to Lorenzo’s plan, how will previous climbers.

Jessica escape from her father’s house ? , _ 2 .
(1) She will disguise herself as 71. Point out the correct word to bring
Lorenzo’s torch bearer and slip out the meaning in the sentence :
out undetected. Women have always dressed to

(2) She will leave during the night figure flaws.
while Shylock is asleep. (1) disfigure (2) show

\(y/ She will .take h_cr father to a (3) exhibit \ga” camouflage
%fgfe%ggl\;%-aucmn and et lost 72. Point out the correct indirect speech

66.

v

(4) She will fake her own death.

How does Shylock initially describe
his demand for a pound of flesh to
Bassanio and Antonio ?

As an opportunity for revenge

As his way of being charitable

(3) As a harmless prank

(4) As a means of generating friendship

of the sentence.
“Would you like to come with us ?”
they said.
(1) They asked me to go with them.
\.(})/:ll‘-rley asked me if [ would like to
come with them.

(3) They invited me to go with them.
(4) They told me to come with them.
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73. What kind of adjective is used in the
following sentence ?
These mangoes are ripe.
\LY? Quantitative  (2) Possessive
(3) Demonstrative (4) Interrogative
Choose the correct word to complete
the following sentence :
He insisted ___ seeing
(1) on to
(3) in (4) by
How did Luz Long help Josse Owens ?
\}J)) Luz Long advised Josse to draw
a line a few inches behind the
board and aim at making his
(2)
(€))

74.

documents.

75.

take off from there.
Luz Long advised Josse to take
rest for a few minutes.
Luz Long advised Josse to
forget that he was participating
in a competition.
(4) Luz Long advised Josse not to accept
the Master Race Theory of Hitler.
Complete the following :
Man is born, according to H.W.
Longfellow,
\%l/gto die and be burled
2) to return to dust
(3) to be up and doing
(4) to pray to God
Complete the following sentence by
choosing the correct option :
No sooner did we go out on the road
it began to rain heavily.
(1) when (2) than
(37 then (4) but
78. The correct feminine of “ram” is
W1) sita i (2) toe
(3) ewe (4) filly
79. Complete the following sentence
with the correct option :

76.

77.

is the best story.
. Yours (2) Your
(3) Yours’ (4) Your’s

80. Identify the correct reported form of
the given sentence .
Ravi said to his friend, “work hard”.
\}Y Ravi said to his friend you must
work hard.
(2) Ravi asked his friend that he
must work hard.
(3) Ravi advised his friend to work
hard.
(4) Ravi ordered his friend to work
hard.

@)

81.

82.

83.

8s.

86.

87.

88.

89.
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Choose the correct figures of speech
in the following sentence :
Her mother too upon this occasion
felt a pleasing distress.
YJ Personification (2) Oxymoron
(3) Hyperbole (4) Simile
Choose the word opposite in the
meaning to the given word :
‘FRAILTY’
(1Y Emanciation (2) Strength
(3) Health (4) Boldness
Didactic poetry means :

poetry which inspires
(2) poetry which pleases
(3) poetry which teaches
(4) poetry which informs
Fill in the blank with the suitable

form of verb :

Either Munni or Chunm lost
her pen.
XJ has (2) have

(3) had (4) will have

Point out the word that has been
wrongly used in this sentence :
If you lose your passport in a foreign

country it will effect you badly.
(1) lose (2) effect

(%) badly (4) foreign '
Poetry teaching should be basically a ’
process of |
(1) sadness 2Y joy
(3) cry (4) anger
What are the two productive skills ?

(1) Listening — Reading

(2) Speaking — Wiiting

(3) Reading — Writing

U4y Listening — Speaking

Linguistics is a study of i
1) Direct Method |
(2) Grammar Translation Method

(3) Sounds

(4) Human Language —0
Dyslexia is associated mainly with
difficulties in

(1) reading (2) speaking
(3) listening &)/wntmg

The purpose of ‘rapid reading’ is
(1) for interest
(2) for specific detail
(3) extended reading
(4 seeking information
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62. YI-WTE & HEAT & T Rew T B (3) 43 (4). 34
WY & A WG B 0
(1) =9 2 @ 71.  INERR VAT ¥ VSR ¥
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WFT-IV / PART - IV S8R
T / MATHEMATICS cﬁ/bf 1t \0”
91. WEH BT AT T =
(1) \gf 91. The smallest prime number is 0}/ \g
3) @ mt';‘; 83 Zer0 gZ; one § 3
92. ‘x't 92. ‘n i:w S e 4 Q
% g;‘f‘:‘fﬁﬁ:{ (1) An improper fraction . '\/g(\/ &t
3) v i 2) A proper fraction o ®
s U HT (3) A prime number
A&y : i wE (4) An irrational number
93. TEA H. 350 B 20% FFHT 9 20% 93. Firstly the number 350 is increased
H & Ea T | S Jhg a1 w4 T by 20% and afterwards decreased by
wieeTE BT 20%. Ultimately the percentage r
(1) 14% 4% Hi):reﬁ;’o or decrease is \ 9 >
(3) 25% (4) 20% (2) 4% >
i 3) 25% 4) 20% 5
94, ;r’r ﬁi‘?’ ;ﬁﬂg 13065%' |Iaa=_%ﬁ.?. i 94. The sum of two numbers is 36. Their 4
T e HCF. and LCM. are 3 and 105 .
: respectively. The sum of reciprocals + Q
e @) i of those two numbers will be bt~
3 35 e bl /\/ = ad
‘4 9 3 35 b
3 35 ST 4 S 4b
95, TH HEHR W, R o Suw p) 38 il e
' ¥ 4 T AT T w7 SR 95. Half the perimeter of a rectangular
u. 36 T | 9 F oA T VT B garden, whose length is 4 m more
o i than its width is 36 m. Length of the
) 20 ,;;’*3 g mg ol
) 36 (4) 327 m (2) 16m
(3) 36m 4) 32
96. WW@W?&? 1 29 p.m, 96. Rajdhani Express (sians i, o
TeTH T EH W 17 ) station at 7:29 p.m. and reaches next
:%fﬂ-‘-l?irw ¥ | 3R T dqsnnation‘Iﬁeftea' 17 l;g:aurs and 42
g minutes, time by which it
(1) 1:29pm.  «2f 1:11am. reaches the destination is
(3) 7:42am.  (4) 1:11p.m. %g . 5335-3 %} P i
97, m ﬁ% ﬂﬁmwf-ﬂrﬁ W g aut § 97. ;[‘he age of the lahourglsl working in a
; : actory 1n years is as follows :
3, 41'.3%%15‘%: 34,27, 23; 33, 35, 42 31, 41, 28, 54, 34, 27, 23, 33, 35, 42.
?} Ci (2) 359 Fﬁng:f 10f .
; ears 2) 35y
(3) 23=4 (4) 2059 (3) 23 yyears Edsg 20 ;’ﬁ
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TR ot & FEAT I B, T ©
(1) 31 (2), 16

3) 7 41 20
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The least number to be added to
make 269 a perfect square 1s
(1) 31 (2) 16
3) 7 4) 20

If the speed of a bus is increased by
5 km/hour from its normal speed, it
takes 2 hours less for a journey of
300 km, the normal speed of bus (in
km/hour) is

(1) 25 (2) 30
(3) 45 (4) None of these
If 9%-1=25_35, then value of x is
1
(1) 2 @
3 ]
3 =% ) 3

The areas of three adjacent faces of a
cuboid are in the ratio 7 : 10 : 14. If
the volume of cuboid is 350 cm?,
then the longest side has a length of

(1) 7em (2) 14cm
(3) 10em 4) 20cm
The sum of three consecutive multiples
of 3 1s 99. These multiples are ‘dq
- = ;
3) 30;3!236 \ ot
= of 2 book per hour. If
Q ] .. :after l'cadillg t.hc
How much part of
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(17) P
104. In the given figure, the line segment
XY 1s parallel to side AC of AABC
and divides the triangle into two
parts of equal areas, then ratio of AX
and AB is
X %
A ¢
W A2+41:2 (2 2-42:2 D) VZ+1:42 (@) 2-42:2
(3) 1:4/2 @ 1:1 (3) 1:42 @ 1:1
105. =9 2003 & weH A qyew a1 | o=y 105. The first day of year 2003 was
2005 = 3iftaw &= $F T @ A 2 Wednesday. What would have been
(Y R @) FER the last day of year 2005 ?
(- 3 5 (1) Friday (2) Sunday
b5 all OR R (3) Wednesday (4) Saturday
14 21 42 14 21 42
}00\106 33 22 55 23 4 106. H.CF. 0f33 9% 55 o
A0 42 ada 42
A wf 25 @iy () 330 @ 350
1_ 3 21 =0 21
03,;/ @) 331 ) 30 ©) 321 @ 350
107, 757 3R 7S tei e S e b 107. Value of 2 57 and 75 paise, in paise is
(1) 57544 (2) 7754 (1) 575 paise (2) 775 paise
57.75 48 5775 %) (3) 57.75 paise (4) 5775 paise
08. TEN3% -30F R m 3%% 108. The digit at unit placc of the number
i 0 @ 4 3 -
3) 6 # (1) 0 2) 4
3\09, 138° ;}maﬁ; aﬁfzc[.rq,-% 109. The complement of the supplement
(1) 42° i \-/@j 48° of 138°°15 -
) 5 & 903 (1) 42 @) 48
L5 (3) 38° (4) 90°
%} A % %4 % 7T ST / SPACE FOR ROUGH WORK r\ﬁl i
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110. 3fg 31 x 5, 9 & e ¥, FT x TH
3 ¥, 79 x A &
(.00 " g

3 6 @ 9
o e
W -1 @ 1
® 0 @ 3

112. fodt Byt &t Sed %L 35 cm,
54 cm 3T 61 cm & | T9& W

\:Pjﬁam (Altitude) =t FTE &
) 16’\/5 cm (2) 10'\/5 cm

(3) 24\/5cm (4) 28 cm

113. a}mﬁmwﬂmww
1 3fiT 18 €& @& & g aa'qam’f

\
ﬂ?ﬂ? 11 et b~
& @ : I &
® 1 @ A5 |

114.uﬁﬁﬁ4=ﬁwqumm%wm

E’ra‘rsaﬁ@ra:ﬁﬁﬁ% ),ar/'

<ﬁ{) g,' @) % ,\4
6 1ETa
@ 5 4) 3 =

\
115. Fr=ifea & 319 99 S8 G@T & 2

110. If 31 x 5 is a multiple of 9, where x is
a digit, then the value of x will be

(1) 1 @) 3
3) 6 @) 9

111. The value of {@_1- @_l}_l will be
(1) 2F @ 1
() 0 @ 3

112. The sides of a triangle are 35 cm,
54 cm and 61 cm respectively. The

length of the longest altitude is
(1) 165em (2) 10n/5cm
(3) 244/5 cm (4) 28cm

113. The sum and multiplication of two
numbers are 11 and 18 respectively,

\ then the sum of their reciprocals is
2 11
\© M 13 ) 2
-ls— —-E-"
4 1 @ g

114. If the product of two fracﬁtﬁm%
0.t 2~ and their corresponding division be -
22 then the largest fraction i

Frs-

@ 7

7
@ 3
tha following is the

3,452
2367
2 4
1 7 2) 3 = %
3 5
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PRI (19) P
116. TR fereror =t ity ol & < ot 116. In  teaching mathematics, an
fafyr et =i & 0 “axiomatic methods” does not
1) wfaﬁ include
(1) Euclidean method B
A ,:g (2) Non-Euclidean method 4 >~
] St > (3) Genetic method
(4) i e fafy (4) Formal axiomatic method
117. forrs=it %1 39amT faea s & 117. Divider is used for
M) F T | (1) to make angle
@) ﬁ‘i‘_“' = (2) to make triangle
(3) to make rectangle
(3 SENTi @) to find the length of line
(4) TEmEvE B FE=E T segrnent
118. U fox § frar ant £ 9 118. How many squares are there in the
given figure ?
1) H 2) 112
8 s @ - 1) 11 @ 12
(3) 13 4) 14
119, T SR Se” 3 v ¥ 119. The writer of ‘Ganita Saar Sangrah” is
M awE (1) Aryabhatta
(2) R (2) Bhaskaracharya
(3) werERTE (3) Mahaviracharya
(4) wera (4) Brahmagupta
120. e %9 & P R fereror s 120. Who has said, “Teacher, with the help
T & R W v v a of teaching equipment/aids, make
[E? teaching stable and interesting” ?
(1) = (1) Rusk
b ] : (2) Nun
3) ‘:ﬁ’_'l T FeeH (3) Mecon and Roberts
(4) =R (4) Vanshidhar
T® %14 % 7T S8 / SPACE FOR ROUGH WORK
: r7, = 3%
é_ 3 i 3 —S:\ j_. 5; -1
IR U - E
ﬂa\ 4 1,_’_’#__,______. ?’ we o e
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YRT-V/PART - V
aterR i e / ENVIRONMENTAL EDUCATION

121. ‘AR a9 Sg ngre = ¥ ) g

Y Siie WO FRATE 7
M{ it 2) qm
(3) e’ @) I

122. "tﬂqnwr’w?ﬁ% 5
(1) %1 9 S T
(3) %aﬁquwﬂ\% T THOT
123, = & § =9 9 9VR | =i 3k 9
ST ST & ? ‘ i
(1) smam @ weranw
3) SREWW  (4) YA GIR
124, ST Teerq T S
16feqmr (2) 7femEw
(3) 30WH (4) 22 e
125. Tt mmer @ & weRrR B §
(1) e 3RS
2 ratHe SuHieET
(3) fyetas susieT
(4) IquTHar
126. uiiffas &5 & o=t & %0 S 59
Fed ¢ ?
(1) TEEFE T%
G- ¥
(3) wmila =%
(4) Y-TEEHE =56
127. FefefEs 9 9 ¥ B9 W AW
TGTERvT TEEOT 30T T 7
(1) &= (2) uge
(3) eEwEeeH 4 e
128. FHIOET <] STITHR sl TR STl &
<Y seREm Y (2) urad
(3) =@=#H (4) WA H
129, Frafefas &g g F sro 9o 9

(2) TR TR
(3) W RS Q
(4) Toowe smeaREe o0
130, FFa 3w & fremw & oer it §

TN ST 2
(1) == (2) ¥R
(3) T (4 e

121. ‘Gir wildlife Sanctuary’ is known for
the conservation of which of the
following animals ?

(1) Elephant (2) Snake
(3) Rhinoceros (4) Lion

122. “Green Mufler” is related to
(1) Soil pollution
(2) Air pollution
(3) Noise pollution
(4) Water pollution

123. Which of the following seas separate
Europe from Africa ?

(1) Red Sea

(2) Black Sea

(3) Arabian Sea

(4) Mediterranean Sea

124. International ‘Ozone Day’ s
celebrat%tli on
(1) 18 September
(%) 7 5 I&ceml?er
(3 3 arc
(4) 22™ April

125, In a food-chain, herbivores are
(1) Primary producer

(2) imary consumer

(3) mU consumer

(4) Dee@npnser 4
126. The cycling of elements in an

ecosystem is called
(1) Chemical cycles
emical cycles
cles
cycles

1¢ following fuels

mum environmental

127. Which

(2) Petrol
n (4 Coal
ed animal Giant Panda

ustralia (2) India
(3) China (4) Brazil
129. Bhopal Gas Tragedy occurs due to
the release of
(1) Chlere-Fluoro Carbon
(2) Carbon dioxide
(3) Nitrous oxide
(4) Methyl Isocynate
130. Christmas is celebrated in Summer in
which country ?
(1) Japan (2) India
(3) Australia (4) America

128. .
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131. TN RN W % N s v
Frtfeifis = @ by qumdg & o
T T W e (2) el @ A
(3) SEWUGE (4) S agEE
132. e & #i= o 9w SR e

T I & 7
@ dm () F®R
- (3 dE (4) 3w
133. Eﬁmﬂﬁaﬁﬁm%ﬁw
W w®E 2) ETE )
(3) ==weE 4 HEE

3) W 4) w=e
135. 2Rz 5w ve =1 Wi sqwE & 0
(1) =or NP
(3) Wi @ *
136, FfefEd & & #9 @ s 55

HEA Y ?
(1) =g (2) g
(3) T ) e
137. wEERy e sfateEn feg 99 aie
g3 an?
W 1982 (2) 1986
(3) 1992 (4) 1996
138. Y-HUSH A 1 SROT ¥
(1) e 3 gig

140. F=1 5 % o vy = siior ofrer gy BT o

(1) v (2~ Wi fagt
(3) v fu \(%/ﬁ'émz
141, SFAvSH & P O W T ) wET
ferott =t e} % e T T @ JmRr 0
(1) wHagavesr (2) &y Ovee
V(aa AT TS (4) T AU

131,

132,

133.

134,

135.

136.

137.

138.

139.

140.

141,
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The Ganﬁla Action Plan launched to
improve the
(1)  water quality

(2)  water velocity

(3) water quantity

(4)  water temperature

The name of the bio-pesticides
producing tree is
(1) Neem (2) Deodar
(3) Chir (4) Oak
The important source of energy in
Geo-ecosystem is

(2) Earth

(1) Sun
(3) Moon (4) Venus

Which of the following is a natural
vegetation of Desert regions ?

(1) Mahogany (2) Cactus

(3) Fir (4) Sandalwood
Titan is the natural satellite of which
planet ?

(1) Neptune (2) Mercury
(3) Saturn (4) Venus
Which one of the following is a bio-
diesel crop ?

(1) Cotton (2) Jatropha

(3) Sugarcane (4) Potato

In which year the Environment
Protection Act was passed ?

(1) 1982 (2) 1986

3) 1992 “4) 1996

The “Global Wax_ming” is due to

(1) Increase in glaciers

(2)  Increase in ¢arbon dioxide

(3) Decrease in carbon dioxide

(4) Increase in forestation

Which of the following has the

largest biodiversity ?

(1) Temperate ~deciduous forest
biome

(2) Tropical evergreen rain forest
biome

(3) Temperate grassland biome

(4) Savana biome

Which of the following soils is
formed by lava ?
(2) Black soil

(1) Red soil
(3) Alluvial soil (4) Laterite

Which layer of the atmosphere
prevents Ultraviolet rays from
coming on the surface of earth ?

(1)  Stratosphere (2) Troposphere
(3) Ionosphere (4) Mesosphere


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247)

P
142. W FRA S’ @R fawe e gm
2 ™ w9 = T W e T e §
e Y SUGERT YURTEHE SUTT & el &
(1) THMETETTE W AFHR ® AT |
(2) & S A H T T AT o |
(B su st & ol
S 39 T HIRE & |
4) sumr cifFmEfaarat =t fofeg
SR ATe-foer w5t 2 |

143. 77 WW § S G IE A B

FEATT € 2 |

(1) et N

(3) TR (4) TR
144. Ty = o Iggey By & swe

(1) war (2) B

(3) ™ gy o ey
145. UREHET B T-ER THHT FE= | Toid

T T T &, o o € U

(1) e (2) =

G (4) T FEHeqT
146.%1?#!4@3%%1@%%
(1) s e g
(2) Yoo wa far T wE
B3y et v e e
(4) =T e
147, Trfafes A @ =F o @9 ase ¥ e
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Rakesh of class-V usually does not

submit his assignment to the EVS

teacher on time. The best corrective

measure could be to

(1) bring it to the notice of the
principal,

(2) stop him from going to the
ame class.

3) d of

4)

out the reasons
irregularities and council Rakesh.
write a note to parents about
his irregularity.

Which city is called lake city in M.P. ?

(1) Bhopal (2) Ujjain

(3) Indore (4) Gwalior

A teacher’s most precious item is his

(1) Job (2) Pay

(3) Pride (4) Students’ faith

A hypothesis tested repeatedly and
not found incorrect becomes

(1) Theeory (2) Law

(3) Discovery (4) Basic concept

Which of the following is a suitable
method of teaching ?

(1) Seminar and Dictation

(2) Dictation and Assignment
(3) Seminar and Project

(4) Lecture and Dictation

Which of the fellowing is not a green
house gas 7

(1) Carben di-oxide

(3) Heliam

(4) Methane

The unit used for measuring noise
pollution s

(1) Joule (2) Decibel
(3) Newton _ (4) Nano unit
Which of the following rivers fall
into the Bay of Bengal ? :
(1) Tapti (2) = Subarnrekha
(3) Narmada (4) Indus

Which of the following landforms is
formed by the action of glaciers ?

(1) Lapies
(2) ‘U’ shaped valley
(3) ‘V’ shaped valley

(4) Waterfall
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